

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q) \& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q)$$

$$\& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q)$$

$$\& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q) \quad \& \sim B$$

$$((B \rightarrow (p \vee q)) \& ((p \vee q) \rightarrow B)) \quad \& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q) \quad \& \sim B$$

$$((B \rightarrow (p \vee q)) \& ((p \vee q) \rightarrow B)) \quad \& \sim B$$

$$((\sim B \vee (p \vee q)) \& (\sim(p \vee q) \vee B)) \quad \& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q) \quad \& \sim B$$

$$((B \rightarrow (p \vee q)) \& ((p \vee q) \rightarrow B)) \quad \& \sim B$$

$$((\sim B \vee p \vee q) \& ((\sim p \& \sim q) \vee B)) \quad \& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q) \quad \& \sim B$$

$$((B \rightarrow (p \vee q)) \& ((p \vee q) \rightarrow B)) \quad \& \sim B$$

$$((\sim B \vee p \vee q) \& ((\sim p \& \sim q) \vee B)) \quad \& \sim B$$

$$(\sim B \vee p \vee q) \& (\sim p \vee B) \& (\sim q \vee B) \quad \& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$(B \leftrightarrow p \vee q) \quad \& \sim B$$

$$((B \rightarrow (p \vee q)) \& ((p \vee q) \rightarrow B)) \quad \& \sim B$$

$$((\sim B \vee p \vee q) \& ((\sim p \& \sim q) \vee B)) \quad \& \sim B$$

$$(\sim B \vee p \vee q) \& (\sim p \vee B) \& (\sim q \vee B) \quad \& \sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$\sim B \vee p \vee q$$

$$\sim p \vee B$$

$$\sim q \vee B$$

$$\sim B$$

$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$\sim B \vee p \vee q$$

$$\sim p \vee B$$

$$\sim q \vee B$$

$$\sim B$$

$$p$$



$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

$$\sim B \vee p \vee q$$

$$\sim p \vee B$$

$$\sim q \vee B$$

$$\sim B$$

$$p$$

$$\sim p$$



$$KB = (B \leftrightarrow p \vee q) \& \sim B$$

$$\alpha = \sim p$$

